MTOroBbIN ypOK

BbinonHunwu:

beHbko Onbra
BacunbeBa AHHa
KpacHoBa [lapbA
OraHuHa HAHa
[TnmeHoBa TaTbAHa
IOTaHMHa EkaTepuHa




How do you feel today?

il worried |




Quiz timel
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\ 7 m Look and circle. What's wrong?




Who is the winner?
Why is the hare/the
tortoise faster?




Which proverbs are more suitable?

Practice makes perfect=
TepneHue u mpyad ece

nepempym A rolling stone gathers no moss=

o0 nexa4yull KaMeHb eo0a He
meyém

The squeaky wheel gets the grease=
Xoyewb xumb-yMeu eepmembCsi

Little strokes fell great oaks=
Booda kameHb mo4yum




Match the words to their pictures




Look at the screen. Who do you see in the picture?

A slow tortoise A fast har




New Words:

Laugh at To pass roHKa

HaJCMexXaTbCs To rest
oTObIXaTb

To cross To jump
nepecekaTb npbiratb

Finish line
UHULLHAA NINHUS







Now let's listen and read

The hare always laughed at the

Once upon a time, there was a very | ,.tise because he was so slow.

fast hare and a very slow tortoise.

All the animals were tired of
listening to the hare. Then one day
the tortoise surprised them all:
‘Let’s have a race tomorrow then!’

The next
day, when
they started
the race, the
hare jumped [,
forward.
Very soon he
was far
ahead of the
tortoise.

A few hours
later, the
tortoise passed
the sleeping
hare ...

Suddenly, the hare opened
his eyes and looked around. He saw
the tortoise at the finish line!
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Module 6

It was a very
sunny day and
the hare was
very hot.
‘There’s a
tree. | can
rest under it!’

The tortoise
was the
winner! The
hare learned [
his lesson
that day:
‘Keep on
going and
don’t stop
until you
cross the
finish line!’




Match thebeginning of sentences and the end

1 The hare always Laughed and the hare was very hot
at the tortoise

because he was so slow
2 When they started the race

the hare jumped forward
3 It was a very hot day



Read and put H for hare
and T for tortoise.

1 He always laughed at
him. H
2 He surprised them all.
3 He jumped forward.
4 He passed him.

5 Suddenly, he opened his eyes.
6 He was the winner.



L et's play!




ZLet’s play!
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